
Channels
Part No. 	 Part Name	 Quantity
39065	 TETRIX® MAX 32 mm Channel . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                               4
39066	 TETRIX® MAX 96 mm Channel . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                               4
39067	 TETRIX® MAX 160 mm Channel. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                              4
39068	 TETRIX® MAX 288 mm Channel. . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                              2

Tank Tracks
Part No. 	 Part Name	 Quantity
36460	 TETRIX® MAX Tank Tread Chain Links. . . . . . . . . . . . . . . . . . . . . . .                      100
36462	 TETRIX® MAX Tank Tread Idler Wheels. . . . . . . . . . . . . . . . . . . . . . . .                        4
36461	 TETRIX® MAX Tank Tread Sprockets. . . . . . . . . . . . . . . . . . . . . . . . . .                          2
36463	 TETRIX® MAX Tank Tread Conveyor Paddles. . . . . . . . . . . . . . . . .                24

Nuts, Screws, & Fasteners
Part No. 	 Part Name	 Quantity
39094	� Kep Nuts 6-32. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                             100
39097	 Socket Head Cap Screws 6-32 x 1/2". . . . . . . . . . . . . . . . . . . . . . .                      100
39098	 Socket Head Cap Screws 6-32 x 5/16". . . . . . . . . . . . . . . . . . . . . .                     100
39111	� Button Head Cap Screws 3/8". . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                              50

Accessories
Part No. 	 Part Name	 Quantity
41985	 TETRIX® MAX Expansion Set Builder’s Guide. . . . . . . . . . . . . . . . .                 1
14041	 Practice Golf Balls. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                            4

Plates & Brackets
Part No. 	 Part Name	 Quantity
39073	 TETRIX® MAX Flat Building Plates. . . . . . . . . . . . . . . . . . . . . . . . . . . .                            2
39061	 TETRIX® MAX Flat Brackets. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                   6
39281	 TETRIX® MAX Inside Corner Brackets. . . . . . . . . . . . . . . . . . . . . . . . .                         6

TETRIX MAX Expansion Set Parts Index

Flats
Part No. 	 Part Name	 Quantity
39274	 TETRIX® MAX Flat 64 mm x 16 mm. . . . . . . . . . . . . . . . . . . . . . . . . . .                           2
39273	 TETRIX® MAX Flat 96 mm x 16 mm. . . . . . . . . . . . . . . . . . . . . . . . . . .                           2
39272	 TETRIX® MAX Flat 160 mm x 16 mm . . . . . . . . . . . . . . . . . . . . . . . . .                         2
39271	 TETRIX® MAX Flat 288 mm x 16 mm . . . . . . . . . . . . . . . . . . . . . . . . .                         2

Axles, Hubs, & Spacers
Part No. 	 Part Name	 Quantity
39172	 TETRIX® MAX Axle Hubs. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .6
39092	 TETRIX® MAX Axle Set Collars. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                              12
39088	 TETRIX® MAX 100 mm Axles Pack. . . . . . . . . . . . . . . . . . . . . . . . . . . .                            6
39091	 TETRIX® MAX 11 mm Bronze Bushings. . . . . . . . . . . . . . . . . . . . . .                     24
39090	 TETRIX® MAX Gear Hub Spacers . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                             2
41792	 TETRIX® MAX 4 mm Bronze Bushings. . . . . . . . . . . . . . . . . . . . . . .                      12
39100	 TETRIX® MAX Axle Spacers 1/8". . . . . . . . . . . . . . . . . . . . . . . . . . . . .                            12
39101	 TETRIX® MAX Axle Spacers 3/8". . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                              6 

Gearing & Servos
Part No. 	 Part Name	 Quantity
39028	 TETRIX® MAX Gear 40-Tooth. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                 4
39086	 TETRIX® MAX Gear 80-Tooth. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                 2
39085	 TETRIX® MAX Gear 120-Tooth. . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .                                2
39300	 TETRIX® MAX Rack and Pinion Linear Slide Pack . . . . . . . . . . . . .             1
40379	 HS-1425CR Continuous Rotation Servo. . . . . . . . . . . . . . . . . . . . . .                      1

Posts & Stand-Offs
Part No. 	 Part Name	 Quantity
39107	 TETRIX® MAX Stand-Off Posts 6-32 x 32 mm. . . . . . . . . . . . . . . .               12
41253	 TETRIX® MAX Stand-Off Posts 6-32 x 16 mm. . . . . . . . . . . . . . . .               12

Set Components      5




